FABEIEETS = N\R7yMR—ILRERS HEARER

2024511 H178 (B)

=I5 RIE/NER

c a—Fh _ a—hEE Lo ES
No. | BHtaREZI | BB % * B T-0
1 10:00 £ FE1 bl T =24
2] 11:00 S FA1 KiE BEAR SHDE
3] 12:00 S FE2 T = aalil]
4] 13:00 S FA2 BEAR SHDE KIE
5] 14:00 S FE3 =5 Fr I
6| 1500 | & FA3 ShoE XIE BELE
Ealwlis 9:15

"EES 9:15

O—rTO7 Y ITRIBEZ 9:30

=15 H L8 INER

D a—Fk J—hFEE: SR
No. | BHtaREZI | BB % * B T-0
1 9:30 £ FC1 A S JAZZ
2| 10:30 S FF1 KL« X KEI R)=7«
3] 11:30 | % FC2 S JAZZ Byrig
4 [ 12:30 i FF2 KEI =74 FILD42 R
5] 1330 | % FC3 JAZZ g 75 58
6| 14:30 oS FF3 N) =7« KILD42 X RIEIE
Ealwlis 8:45

"EES 8:45

a—rTO 7Y ITRREZ 9:00

=15 + B IB/NER

E a—} ] = o 25 H#E
No. | BRsERFXI | BB & _ X HE T-0
1] 1000 | % FB1 +HHE JIIEZE BAE—
2] 11:00 £ FH1 BEELR SEwY 21)yN—X
3] 12:00 £ FB2 JIlEdE BAE— +HHi5
41 1300 | % FH2 SEvY 21)wii—X BAZENER
5] 1400 | % FB3 HMAE— + B JILEdE
6| 1500 | % FH3 21N —X BAEEHNT SEYY
Ealwlisz ]l 9:15

‘"EES 9:15

a—rTO7 Y ITRRFEZ 9:30




FAEIBETI=NRT Yy R—ILRBRS HEBEARER

=I5 EINER
F a—k _ _ J—rEE PN /N
No. | BHtaREZI | BB % * B _ T-0
1] 1000 | % FG1 XAE EHAE INEL R
2] 11:00 S FD1 ARE =H Fix
3] 1200 | % FG2 EHAE INEL R XAE
4] 13:00 S FD2 LrEH Bz HRE
5] 14:00 S FG3 INErR KHEE EHA
6] 1500 [ & FD3 FiF BRE +tEH

BP9 BF %Il 9:15

"EES 9:15

I—+TOT7 VT FRER

9:30




